[ #=X1 =& |

FEMBDIEFERNRE

g B E

% BEBENE®MXEE (-12m) HhBRRITE



FEME (FREANRRK)

e EEBNBHBXE

B (-12m BRI %

[#zt2 GEERT)

£ FR HE *% AR
EEIEE
1= 895, 691, 060
FE (-12m)
1= 895, 691, 060
T
1= 106, 150
T #t JL—X) 500.00m 3
1 106, 150
BEEhigth R T
1= 895, 584, 910
BT FRBRESNEHITE (1) GEH) 148. 004K, ZFEERESLEMITE () (K1) 259. 00K,
e 895 534, 910 RERAMIBHITER (2) (BEH) 703. 00K, RERESLEHITE (2) (B 1, 443. 004,
FBREENEHITE Q) GEH) 148. 004, RERSLEMITHE Q) (KH1) 296. 00K, #EAI 15, 000.00m 3,
THEEEHR 15,000.00m 3. Zh 15,000.00m 3
EEHATE
1% 156, 499, 005
MSIEEEE
1% 156, 499, 005
MSIFEER
1% 156, 499, 005
HSiEE WAEW 2. 00X, AIREETE 577.00. BIH{REE 4. 00 AT, J|IHFM/NE 573. 00E].
It 156, 499, 005|BIFL (BeEAR—1 %) (1.1) 6,520.00m, BIF (BetAR—1U>%) (1.2) 1,558.00m. ##4% 1.00%.
BHBIE 1,731.00m. FEHTE 1,731.00m




FEMEFEEN

e EEBNBHBXEERC2nHMBRRITE

[#zt2 GEERT)

B HE =% MER
REE
1= 5,747,319
TEREEH
1= 5,747,319
BEERE
1= 5,216, 620
BEERE EER—Y>5A.1) 12.20m, BEER—Y 25 (1.2) 2.70m, BEER—1) 25 (2) 167.40m, HFHER 1.00=
1= 5,216, 620
FERE
1= 530, 699
FERE FEEENE 1.00=C, HAEM 1.00=C, HBLEMK (1) 1.00=X, FHELEH (2) 1.00X. EIEEE 1.00=X
1= 530, 699




FEME (GERERE)

e EEBNBHBXEERC2nHMBRRITE

[#st3 GEeggsd) |

& HE &% R
BEEIZEE
1% 895,691, 060
HEISE
1% 275,878, 134
HEBEREE GH
1% 57,036, 593
HEREE (BL) EfRE, HiiEEE
1% 11, 535, 488
HBEREE (( F)
1% 43,172, 309
HERRERES
1% 2,328,796
REEEE
1 218, 841, 541
ITER(E
1 1,171,569, 194
—EEEE
1 138,002, 179
R E
1 468, 627
TE{m%E
1= 1, 310, 040, 000




FEME (GERERE)

e EEBNBHBXEERC2nHMBRRITE

[#st3 GEeggsd) |

i1 e =% iR
BEEREE
1= 138, 427, 365
HERE
1= 84,992, 635
REEBE
1= 223,420, 000
BRI
1= 18,071, 640
EEAHE
1= 18,071, 640
Z Ot R {fhi
1= 9,731,578
R
1= 27,803, 218
—REEES
1= 14, 966, 782
B HE ST
1= 42,710, 000
E 3T
1= 266, 190, 000
BEEREE
1= 5,216, 620
FHERES FERAE
1= 530, 699
EREE
1= 4,042, 681
—RAEXHBE
1= 9, 790, 000
REXHE
1= 9, 790, 000
BHFTEIEME
1= 1,586, 020, 000




